

Trope Group

Workspaces that Work
2305 Circadian Way
Santa Rosa, CA 95407
www.tropegroup.com

CalWorks

Budgetary Pricing

salesperson: Emily Ashley
direct: 707.636.2720
fax: 707.546.1409
emily@tropegroup.com

Item	Cat	Qty	Part Number	Part Description	Sell	Ext Sell
1	HAO	1	A1120.6718G	+Panel,Fabric Pwr 4-Circ w/o Rcp Lc 67H 18W	\$ 210.83	\$ 210.83
2	HAO	13	A1120.6724G	+Panel,Fabric Pwr 4-Circ W/Com Pt Lc 67H 24W	\$ 214.89	\$ 2,793.57
3	HAO	38	A1120.6724N	+Panel,Fabric Npwr 67H 24W	\$ 165.59	\$ 6,292.42
4	HAO	15	A1120.6736G	+Panel,Fabric Pwr 4-Circ W/Com Pt Lc 67H 36W	\$ 261.29	\$ 3,919.35
5	HAO	30	A1120.6736N	+Panel,Fabric Npwr 67H 36W	\$ 211.41	\$ 6,342.30
6	HAO	27	A1120.6742G	+Panel,Fabric Pwr 4-Circ W/Com Pt Lc 67H 42W	\$ 273.76	\$ 7,391.52
7	HAO	3	A1120.6742N	+Panel,Fabric Npwr 67H 42W	\$ 225.04	\$ 675.12
8	HAO	40	A1120.6748G	+Panel,Fabric Pwr 4-Circ W/Com Pt Lc 67H 48W	\$ 288.26	\$ 11,530.40
9	HAO	32	A1120.6748N	+Panel,Fabric Npwr 67H 48W	\$ 238.96	\$ 7,646.72
10	HAO	2	A1131.6724N	+Panel,Acou Npwr 67H 24W	\$ 202.71	\$ 405.42
11	HAO	2	A1131.6748N	+Panel,Acou Npwr 67H 48W	\$ 267.67	\$ 535.34
12	HAO	32	A1220.67H	+Conn,2-Way 90 Deg Hard 67H	\$ 45.82	\$ 1,466.24
13	HAO	40	A1230.67H	+Conn,3-Way 90 Deg Hard 67H	\$ 77.14	\$ 3,085.60
14	HAO	7	A1240.67H	+Conn,4-Way 90 Deg 67H	\$ 99.18	\$ 694.26
15	HAO	60	A1271.67H	+Fin End 67H	\$ 19.43	\$ 1,165.80
16	HAO	17	A1311.A	+15 Amp Receptacle 4 Circuit, Duplex, Circuit A 6/Pkg	\$ 58.58	\$ 995.86
17	HAO	17	A1311.B	+15 Amp Receptacle 4 Circuit, Duplex, Circuit B 6/Pkg	\$ 58.58	\$ 995.86
18	HAO	17	A1311.C	+15 Amp Receptacle 4 Circuit, Duplex, Circuit C 6/Pkg	\$ 58.58	\$ 995.86
19	HAO	3	A1311.D	+15 Amp Receptacle 4 Circuit, Duplex, Circuit D isolated ground 6/Pkg	\$ 58.58	\$ 175.74
20	HAO	2	A1322.06E	+Base Pwr Entry,Dir Con 4-Circ,6Ft L	\$ 52.20	\$ 104.40
21	HAO	4	A1325.67E	+Ceiling Pwr Entry,Int Direct Conn,Pwr 67H	\$ 172.55	\$ 690.20
22	HAO	4	A1325.67N	+Ceiling Pwr Entry,Int Direct Conn,Npwr 67H	\$ 95.12	\$ 380.48
23	HAO	14	A2310.2436L	+Work Surf,Sq-Edge Rect, Lam Top/TP Edge 24D 36W	\$ 91.64	\$ 1,282.96
24	HAO	13	A2310.2442L	+Work Surf,Sq-Edge Rect, Lam Top/TP Edge 24D 42W	\$ 98.02	\$ 1,274.26
25	HAO	30	A2310.2448L	+Work Surf,Sq-Edge Rect, Lam Top/TP Edge 24D 48W	\$ 103.24	\$ 3,097.20
26	HAO	3	A3220.1336	+Shelf,Storage/Display B-Style 13D 36W	\$ 52.20	\$ 156.60

N:\CAP\PROJECTS\K-M\Mendocino, County of\CalWorks\CalWorks budgetary ALL 2017-10-27.sp4 10/31/17 10:16:29

Trope Group

Workspaces that Work
2305 Circadian Way
Santa Rosa, CA 95407
www.tropegroup.com

CalWorks

Budgetary Pricing

salesperson: Emily Ashley
direct: 707.636.2720
fax: 707.546.1409
emily@tropegroup.com

Item	Cat	Qty	Part Number	Part Description	Sell	Ext Sell
27	HAO	5	A3352.1336	+Flip Dr Unit,B-Style Fab,W/Lock 13D 36W 15-1/2H	\$ 149.06	\$ 745.30
28	HAO	12	A3352.1342	+Flip Dr Unit,B-Style Fab,W/Lock 13D 42W 15-1/2H	\$ 159.50	\$ 1,914.00
29	HAO	16	A3352.1348	+Flip Dr Unit,B-Style Fab,W/Lock 13D 48W 15-1/2H	\$ 167.91	\$ 2,686.56
30	HAO	2	A3410.1642	+Tackboard,B-Style 16H 42W	\$ 59.45	\$ 118.90
31	HAO	12	A3410.1648	+Tackboard,B-Style 16H 48W	\$ 63.22	\$ 758.64
32	HAO	5	A3610.36	+Tool Bar,B-Style 4H 36W	\$ 29.00	\$ 145.00
33	HAO	10	A3610.42	+Tool Bar,B-Style 4H 42W	\$ 31.03	\$ 310.30
34	HAO	18	A3610.48	+Tool Bar,B-Style 4H 48W	\$ 33.64	\$ 605.52
35	HAO	69	AO215.62	+Draw Rod 62H	\$ 7.83	\$ 540.27
36	HMU	36	G6160.AM	+Twist LED Task Light,Single unit,Magnet Att	\$ 118.32	\$ 4,259.52
37	HTU	33	LW100.20BBF	+Ped W-Pull,Freestd 20D B/B/F	\$ 210.21	\$ 6,936.93
38	HBE	33	Y7216.10	+Paper Tray 10W	\$ 14.52	\$ 479.16
39	HBE	66	Y7218.	+Diagonal Tray	\$ 23.76	\$ 1,568.16
sub				Cubicles		\$ 85,372.57
40	HGN	11	U1BC4KF244872DN NPSLWLWLN	@Renew Sit-to-Stand 90 Degree Extended Corner Table Top	\$ 245.85	\$ 2,704.35
41	HGN	11	U1BC4KF247248DN NPSLWLWLN	@Renew Sit-to-Stand 90 Degree Extended Corner Table Top	\$ 245.85	\$ 2,704.35
42	HGN	10	SP2442x2478	@Renew Sit-to-Stand 90 Degree Extended Corner Table Top	\$ 278.85	\$ 2,788.50
43	HGN	1	SP2448x2466	@Renew Sit-to-Stand 90 Degree Extended Corner Table Top	\$ 278.85	\$ 278.85
sub				Sit-Stand surfaces		\$ 8,476.05
44	WRT	10	ES3E7890-4248OC	Essentia Electric Frame Set, 3-Leg, Offset Corners	\$ 731.86	\$ 7,318.60
45	WRT	23	ES3E5472-4248OC	Essentia Electric Frame Set, 3-Leg, Offset Corners	\$ 727.62	\$ 16,735.26
46	WRT	33	ES-FS24	Flat Foot Kit, 24" Depth	\$ 35.15	\$ 1,159.95
47	WRT	33	ES-P-SWITCH	Programmable Switch	\$ 44.47	\$ 1,467.51
sub				Sit-Stand bases		\$ 26,681.32
48	HPS	1	PB1LA.DA32N	+Rec,Full Bk Pnl,24x24,Lam Top/Vin Ed,L C-Leg/R Rec Leg,Nonpwr	\$ 1,137.00	\$ 1,137.00
49	HPS	1	PB1LA.DG23N	+Rec,Full Bk Pnl,24x60,Lam Top/Vin Ed,L Rec Leg/R C-Leg,Nonpwr	\$ 1,445.00	\$ 1,445.00
50	HPS	4	PB1LA.DG33N	+Rec,Full Bk Pnl,24x60,Lam Top/Vin Ed,L C-Leg/R C-Leg,Nonpwr	\$ 722.50	\$ 2,890.00

N:\CAP\PROJECTS\K-M\Mendocino, County of\CalWorks\CalWorks budgetary ALL 2017-10-27.sp4 10/31/17 10:16:29

Trope Group

Workspaces that Work
2305 Circadian Way
Santa Rosa, CA 95407
www.tropegroup.com

CalWorks

Budgetary Pricing

salesperson: Emily Ashley
direct: 707.636.2720
fax: 707.546.1409
emily@tropegroup.com

Item	Cat	Qty	Part Number	Part Description	Sell	Ext Sell
51	HPS	1	PF100.24L	+Trans Surf,Rec End,Dsk Mod Ht Strt/Cor Ed,Lam Top/Vin Ed,for 24W	\$ 250.50	\$ 250.50
52	HPS	5	PF100.60L	+Trans Surf,Rec End,Dsk Mod Ht Strt/Cor Ed,Lam Top/Vin Ed,for 60W	\$ 298.00	\$ 1,490.00
53	MER	5	F16-1518-BBF	+Ped,Freestd Std Pull,B/B/F 15W 18D	\$ 354.66	\$ 1,773.30
54	WRT	5	920-FL	920 CPU Holder, Locking Fixed Mount	\$ 107.95	\$ 539.75
55	WRT	5	PA1000-S	Poise Monitor Arm W/C-Clamp & Grommet Mounts, Silver	\$ 250.63	\$ 1,253.15
56	WRT	5	2128-22	Banana-Board System w/22" Track and Pinnacle2 Arm, Black	\$ 260.78	\$ 1,303.90
sub				Interview Rooms		\$ 12,082.60
57	HST	18	WC410N	+Caper Stacking Chair, Molded Seat, No Arms	\$ 119.38	\$ 2,148.84
58	HST	4	WC410P	+Caper Stacking Chair, Molded Seat, Fixed Arms	\$ 162.15	\$ 648.60
sub				Caper Chairs		\$ 2,797.44
59	MER	3	26-4218-3N	+File,FS Lat Std Pull,3 11 3/4" Dwr 42W 18D	\$ 665.72	\$ 1,997.16
60	HEI	3	E1109.3824X	+Frame,Bare 38H 24W	\$ 60.32	\$ 180.96
61	HEI	2	E1109.3836X	+Frame,Bare 38H 36W	\$ 69.02	\$ 138.04
62	HEI	1	E1109.5430X	+Frame,Bare 54H 30W	\$ 77.14	\$ 77.14
63	HEI	5	E1120.38	+Draw Rod 38H	\$ 8.12	\$ 40.60
64	HEI	2	E1224.38WSE	@Conn,2-Way 90,Mono Veneer,Pwr 38H	\$ 177.19	\$ 354.38
65	HEI	1	E1224.54WSE	@Conn,2-Way 90,Mono Veneer,Pwr 54H	\$ 202.13	\$ 202.13
66	HEI	1	E1251.16W	@Chg of Ht Fin End Vnr 16H	\$ 61.77	\$ 61.77
67	HEI	1	E1252.38W	@Fin End,Vnr 38H	\$ 89.32	\$ 89.32
68	HEI	3	E1260.24W	@Top Cap,Frame Vnr 24W	\$ 62.64	\$ 187.92
69	HEI	1	E1260.30W	@Top Cap,Frame Vnr 30W	\$ 66.70	\$ 66.70
70	HEI	3	E1261.2W	@Top Cap,Conn Vnr 2-Way 90 Deg Radius Conn	\$ 33.93	\$ 101.79
71	HEI	3	E1263.24J	+Side Cover,2 Recept 1 Comm Port 24W	\$ 17.69	\$ 53.07
72	HEI	1	E1263.30J	+Side Cover,2 Recept 1 Comm Port 30W	\$ 19.14	\$ 19.14
73	HEI	2	E1263.36J	+Side Cover,2 Recept 1 Comm Port 36W	\$ 21.46	\$ 42.92
74	HEI	1	E1311.A	+15 Amp Receptacle 4 Circuit, Duplex, Circuit A 6/Pkg	\$ 60.90	\$ 60.90
75	HEI	1	E1322.06E	+Power Entry,Ext. Dir Con 4-Circ,6Ft L	\$ 53.94	\$ 53.94

N:\CAP\PROJECTS\K-M\Mendocino, County of\CalWorks\CalWorks budgetary ALL 2017-10-27.sp4 10/31/17 10:16:29

Trope Group

Workspaces that Work
2305 Circadian Way
Santa Rosa, CA 95407
www.tropegroup.com

CalWorks

Budgetary Pricing

salesperson: Emily Ashley
direct: 707.636.2720
fax: 707.546.1409
emily@tropegroup.com

Item	Cat	Qty	Part Number	Part Description	Sell	Ext Sell
76	HEI	1	E1331.54CE	+Power Entry,Ceiling,Int Direct Conn,Conn/Frame Attached,4-Circ Pwr 54H	\$ 267.38	\$ 267.38
77	HEI	3	E1354.24E	+Harness,Baseline,4-Circ,No Side Covers Pwr 24W	\$ 40.89	\$ 122.67
78	HEI	1	E1354.30E	+Harness,Baseline,4-Circ,No Side Covers Pwr 30W	\$ 43.21	\$ 43.21
79	HEI	2	E1354.36E	+Harness,Baseline,4-Circ,No Side Covers Pwr 36W	\$ 44.95	\$ 89.90
80	HEI	6	E1415.1624T	+Tile,Window Top 16H 24W	\$ 47.27	\$ 283.62
81	HEI	2	E1415.1630T	+Tile,Window Top 16H 30W	\$ 50.75	\$ 101.50
82	HEI	4	E1415.1636T	+Tile,Window Top 16H 36W	\$ 56.26	\$ 225.04
83	HEI	3	E1420.1624F	+Tile,Face Fabric 16H 24W	\$ 30.16	\$ 90.48
84	HEI	1	E1420.1630F	+Tile,Face Fabric 16H 30W	\$ 27.84	\$ 27.84
85	HEI	1	E1420.1630F	+Tile,Face Fabric 16H 30W	\$ 31.61	\$ 31.61
86	HEI	2	E1420.1636F	+Tile,Face Fabric 16H 36W	\$ 34.80	\$ 69.60
87	HCE	3	E1420V.2224B	@Vary Easy Face Tile,Vnr w/Sq-Edge and Horizontal Grain,22H 24W	\$ 116.00	\$ 348.00
88	HCE	1	E1420V.2230B	@Vary Easy Face Tile,Vnr w/Sq-Edge and Horizontal Grain,22H 30W	\$ 124.41	\$ 124.41
89	HCE	2	E1420V.2236B	@Vary Easy Face Tile,Vnr w/Sq-Edge and Horizontal Grain,22H 36W	\$ 135.14	\$ 270.28
90	HEI	1	E1425.1630	+Tile,Rail 16H 30W	\$ 59.16	\$ 59.16
91	HEI	2	E2393.24L	+Support,Work Surf 24D (for 20" or 24" Deep surfaces) Left	\$ 10.15	\$ 20.30
92	HEI	2	E2393.24R	+Support,Work Surf 24D (for 20" or 24" Deep surfaces) Right	\$ 10.15	\$ 20.30
93	HCE	1	ZE0WC	@Sq-Edge Wood Rectangular Trans Surface,Ven Top	\$ 186.47	\$ 186.47
94	HCE	1	ZE0WC	@Sq-Edge Wood Rectangular Trans Surface,Ven Top	\$ 174.87	\$ 174.87
95	HEI	2	EWS10.2460WF	@Rect Surf,Sq-Edge,Ven top/edge,Frame att 24D 60W	\$ 214.02	\$ 428.04
96	MER	1	TPL-08418	@Meridian File Top, Lam Top/TP Edge 84W 18D	\$ 178.64	\$ 178.64
97	MER	1	TPL-04218	@Meridian File Top, Lam Top/TP Edge 42W 18D	\$ 89.32	\$ 89.32
98	HBE	1	Y91171.CM	+Flo Sngle-Screen Monitor Arm Support,Surf Clamp	\$ 157.96	\$ 157.96
sub				Reception Station		\$ 7,138.48
99	TGI	1	DN	Layout & Design	\$ 3,600.00	\$ 3,600.00
100	TGI	1	IL	PREVAILING WAGE, Installation of new product	\$ 37,400.00	\$ 37,400.00
sub				Labor Svcs		\$ 41,000.00

N:\CAP\PROJECTS\K-M\Mendocino, County of\CalWorks\CalWorks budgetary ALL 2017-10-27.sp4 10/31/17 10:16:29

Trope Group

Workspaces that Work
2305 Circadian Way
Santa Rosa, CA 95407
www.tropegroup.com

CalWorks

Budgetary Pricing

salesperson: Emily Ashley
direct: 707.636.2720
fax: 707.546.1409
emily@tropegroup.com

Item	Cat	Qty	Part Number	Part Description	Sell	Ext Sell
101	TGI	1	TAX	Sales Tax, 8.375% for Ukiah	\$ 15,372.18	\$ 15,372.18
				Grand Total		\$ 198,920.64

OPTION 1

